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Note : Answer all the four questions. 

1. Answer all the five parts : 1×5=5 

(a) Which of the following compounds will 

have intramolecular hydrogen bonding ? 
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(b) Give IUPAC name of salicylaldehyde. 

(c) Which of the following will form an 

anhydride ? Write the structure of 

anhydride formed : 

(i) Fumaric acid 

(ii) Maleic acid 

(d) Arrange the following groups in an 

increasing order of priority for assigning 

R/S configuration to a compound : 

 3 2CH(CH ) , 2 2 3CH CH CH   , 3COCH , 

– CHO 

(e) Which compound will show max  at a 

higher wavelength in the UV spectrum ? 

(i) 3 2 2 3CH CH CH CH    

(ii) 3 2CH CH CH CH     

2. Answer any five parts : 2×5=10 

(a) Write the reactions for conversion 

3CH MgCl  to : 

(i) 3 2CH CH OH   

(ii) 4CH  

(b) Name the polymers made by condensation 

polymerisation of HCHO with (i) phenol 

and (ii) urea. Write a part of the polymer 

structure of one of these. 
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(c) Define octane number and give IUPAC 

name of the compound which has been 

assigned the highest octane number.  

(d) Complete the following equations : 

 

                              

Ozonolysis
A B 

 

 

What is the name of the first reaction ? 

(e) Which of the following cannot be oxidised 

to benzoic acid and why ? 

(i) 6 5 2 3 2C H CH CH(CH )  

(ii) 6 5 3 3C H C(CH )   

(f) Which of the following compounds can 

undergo nucleophilic substitution ? Give 

one example of such a reaction :    
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3. Answer any five parts : 3×5=15 

(a) Why does benzyl chloride and not ethyl 

chloride undergo 1N
S  reaction ? Write the 

mechanism of the reaction. 

(b) Explain why naphthalene forms mainly 1-

nitrophathalene and not 2-

nitronaphthalene on nitration. 

(c) How will you convert benzene to isopropyl 

benzene ? What is the common name of the 

compound and how is it converted to 

phenol ? Write all reactions. 

(d) Write the structures of AF in the 

reactions given below : 

A B+C
3 3CH COOH CH COCl  3CH CHO  

                                    3NH                  dil. NaOH 

             2Br

+NaOH
F E                           D 

(e) In the tripeptide gly-phe-ala, which amino 

acid will form DNP-derivative on reaction 

with 2, 4-dinitrofluorobenzene ? Write 

complete reaction. 

(e) Define the following : 

(i) Saponification value 

(ii) Plane of symmetry 

(iii) Huckel’s rule 
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4. Answer any five parts : 4×5=20 

(a) Ozonolysis of an alkeke 6 12(C H )  gives only 

one product A. A gives +ve 2, 4-DNP and 

iodoform test but no reaction with Fehling 

and Tollen’s reagents. What is A ? Write 

the reactions of its iodoform test and DNP 

test. 

(b) (i) Write the structures of diastereomers 

of tartaric acid.  

(ii) Draw Newman propjections of most 

and least stable conformer’s of n-

butane. 

(c) (i) What is Friedel-Craft’s acylation 

reaction ? Write its limitations and 

advantages. 

(ii) Which is more basic 6 5 2C H NH  or 

3 2CH NH  ? Explain.  

(d) How will you carry out the following 

conversions ?  

 

(i)  

 

(ii) 3 2 3CH NH CH NC  

(iii) 6 5 3 6 5C H COOCH C H COOH  

(iv) 3 3 2CH CHO CH CH(OH)CH CHO  
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(e) Give the products obtained by reduction of 

nitrobenzene under neutral, acidic and 

basic conditions. Write the common names 

of products in each case. 

(f) (i) Write the open chain structure of  

D-glucose. 

(ii) What is the difference in the 

structures of amylose and  

amylopectin ? 

(iii) Why is CH CH  more acidic than 

2 2CH CH  ? 

(iv) Give one example of crown ethers with 

structure. 
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ª

ª

(i)

(ii)

R/S

 3 2CH(CH ) , 2 2 3CH CH CH   , 3COCH , 

– CHO 

³

ª max

 (i) 3 2 2 3CH CH CH CH    

 (ii) 3 2CH CH CH CH     

2×5=10

3CH MgCl

 (i) 3 2CH CH OH   

 (ii) 4CH  
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HCHO (i) (ii)

                                             
A B   

³

 (i) 6 5 2 3 2C H CH CH(CH )  

 (ii) 6 5 3 3C H C(CH )   
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3×5=15

1N
S

ª

¶ ª ¶

ª ¶
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A F

A B+C
3 3CH COOH CH COCl  3CH CHO  

                                  3NH                      NaOH 

            2Br

+NaOH
F

 
E                          D 

³ ª gly-phe-ala

ª ¶

(i)  

(ii)  

(iii) 
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4×5=20

6 12(C H )

A A

A

(i) 

(ii) n-

(i) ¶
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(ii) 6 5 2C H NH 3 2CH NH

 

 (i)  

 

 (ii)  3 2 3CH NH CH NC  

 (iii) 6 5 3 6 5C H COOCH C H COOH  

 (iv) 3 3 2CH CHO CH CH(OH)CH CHO  

³

ª

(i) D-
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(ii)

 (iii)CH CH , 2 2CH CH  

(iv)
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